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1. VGS − ID ��� 2
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2: VGS − VS ��?��#9H; o
p ) � �cI!Kc� VDD = −5V G����!� VDD = −15V G��
� 80K � VDD = −5V G�	�


� 80K � VDD = −15V )
�vu��Ju � fit P�(�Zcq ��� w r P�(!)

ID a5V b5V c5V a15V b15V c15V

02 -3.796600e-03 6.068048e-03 -2.065722e-03 -3.364075e-03 6.024351e-03 -2.191533e-03

03 -3.781233e-03 6.213699e-03 -1.892221e-03 -3.797160e-03 6.229991e-03 -2.146111e-03

04 -3.876160e-03 6.278909e-03 -2.093402e-03 -3.801893e-03 6.568483e-03 -2.308375e-03

ID a5V 80K b5V 80K c5V 80K a15V 80K b15V 80K c15V 80K

02 -9.531922e-03 2.184219e-03 -1.613156e-04 -2.697136e-02 -1.663769e-04 -3.646098e-04

03 -9.396401e-03 1.698938e-03 -1.290916e-04 -2.693322e-02 -1.474502e-03 -3.988832e-04

04 -9.186533e-03 2.049941e-03 -1.371804e-04 -2.632867e-02 -3.548757e-04 -3.640100e-04

�
1: VGS − ID ��� "�Zcq ��� � fit PJ( o!p


